Vattenskidbage Arkip 530
Water ski pole Arkip 530

Art.Nr. 712 530




Arkip 530BR

° DU BEHOVER / YOU NEED

Arkip 460

Sportsman 445 Catch

Sportsman 445 Max

Sportsman 445 Basic

=

@ 6mm
@ 5mm

Torx 25
Torx 30

14”, 10!1’ 8”

Sportsman 400

Sportsman 355

Fishing 440

Fishing 410

Inkas 525

Inkas 495

Inkas 465

Inkas 465L

e = passar / fits
— = passr inte / does not fit

| LADAN /1IN THE BOX

1 a?)mg, X1
Y

810743 Vattenskidkrok

11

x10

810058 Mutter M6 las

211547 Forst.vattenskidkrok

12

X2

211489 Bricka Vattenskidbage

812057 Andbeslag 55

13

x12

211136 Bricka @23x6mm

LD |x2

812207 Andbeslag 52

812211 Skruv MFT M6x45

x4

812210 Skruv MFT M6x25

X2

811370 Skruv MRT M6x40

x4

811943 Skruv MFT M5x30

x4

810332 Mutter M5 las

10 X2

811364 Mutter las 3/8unc

14

X2

Bricka @30x10mm




\ X [ SN




Torx 30

10”

812210

/f >
e
810332

/;:Q\

© ) x2
211136

812057 812207

812057

1

810058

‘/:_-‘\\‘ '_7_7 — “7-:--;

/

211136

812207




811364

S\ ~
5 \&—;\i‘ x4 AS\RB\\ X2
y )

211136 211489

810058

) x2
Bricka @30




811943

=

810332

x4

812211
)

© ) x4
211136
S

810058

x4

— x4







Linder Aluminiumbatar AB
Kanotleden 5 e SE-362 32 Tingsryd
Tel: +46 (0)477-190 00
info@linder.se ® www.linder.se

Made in Sweden I I

2019-04-17 » Utgdva 1



